Sht

s DEANERIE

RIERFHD

R _ 51 ]
~ | g /—En, E\‘ === }E%E
26IZ FN DS 5 RENS =5 T —— 2
NN o S n £\ 1.33f2(1.03) |hRU-EIEB=(Fa) 300390 — 400
O NRERD) MREYY - REARE A 150E(115) | ERS-B12BR(Fa)  600(780) — 900
. _ TREVY—FER, BEISTUY g 108fE IR RIS 2 & (FFa0) 1,200 — 1,300
LR A B HEER ) R &USOVE, ERAR—YE | : -
2. 2INBNGE. 2BI8% B 117 Z58E18 (a0 600 — 700| iz
BRI PRABIEEE s s o) 1 ks s\ 108 BI\VABERE (FE) 1200 — 1,300
e FRISOVE, KBS SA 1.33f BNl (280) 300 — 400
OHBHREL YT —F st 5 2\ 1.38E(1.06) | 221 (FE) 800(1,040) — 1,100
51 e £K 1.50Z(1.15) | %22 (F#0) 400(520) — 600
R LN
BRHISa1Z5Fr2Y |FR@%IIa"7yy-D& BN 15 = “ -
5 — 545 LD, ARSI =T+ 2V5— CXETEDIIEY -9 h-h.
SX 1.20f ABRYVESE (Fa0) 500 — 600| .
TERE A LRSS O s = - —— o | B 1S R - 2ERERSEZBS — g,
S1-F wys—gp |TRAEDROSA=F 2y S 120 THEZR (Ffl) xemcnesss) 500 — 600
o e o S 1 R - 2ERERSEZBS —
e Gl 2K 1176 =1 () | 600 — 700
w e o8 A7 N HE§’J\ 11% *DE * @ET&%H&@]’%ZE% g vz
Iﬂﬁ*ﬂ&\ﬁ%ﬁi’/fj*@” %R@EEE HE§7( 1171% ’J\/_I_\_}IJ(/__FELG) 600 - 7OO —F7J<Ln¥
s i s L S\ 120f WEESS (1 2% M B8R 5000 — 6,000
Iﬂﬁ*ﬂ&\ﬁ*?ﬁi’/fj*@” Iﬁﬁ*ﬂ&\ﬁ*ﬁi’/fj HE§7( 1701% %%@5$ 3’240 . 5,500 FEED%
®iniEhE AR Y = B — =1\ 1.38f5(1.06) | E=EEEE (7)) 800(1,040) —  1,100| st
5 — 45| @ BA 150f%(1.15) |ME= (5F-70) 600(780) — o00| =R
QBN ESELY et £\ 1.33f(1.03) | IVaE= G 300(390) — 400| .., ..
5 2] ARREEYY EA 150115 | ASB= F®) 600(780) —  900|" “HEE

OLREE - STV — s EABUEYY— - HERELYY - SEBRNERENE (RE) NoSH8ERNEIAHS (IER) EIDMERTI.
O REREOHNEICHEBNEZSHICEE




